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1	Introduction
During the last meeting RAN4#81 a WF on BS output power requirement [1] was approved. In [1], the following is captured for further discussion:

· How to verify the maximum output power (TRP) for testing of other RF requirements
· TRP may need to be measured and fit into an interval

This document discusses the aforementioned aspect and concludes with some observations.   
2	Discussion
The agreements captured in [1] are as follows:
· EIRP accuracy requirement is included as a core requirement

· Rated TRP should be declared

· The declaration of TRP will be described in the conformance specification

· TRP will need to be referred to in the core specification for the BS class power limit 

· TRP accuracy is not included as a core requirement at this stage

· FFS whether validating TRP declaration with measurement can be captured purely in the conformance specification

As mentioned above, TRP accuracy is not included as a core requirement but there is a need to validate TRP declaration and verify the maximum output of AAS BS. 
 
OTA output power of AAS BS can be defined in terms of TRP. TRP is in turn can be can calculated from EIRP measurement as follows:

													(1)

Using numerical calculation, equation (1) is approximately equal to   

											(2)

As shown in equation (2), TRP is the average sum of a finite set of EIRP values that are sampled over different points on the spherical surface. As TRP is based on EIRP measurement, the accuracy of TRP is the average of the EIRP accuracy of each sample.
Observation 1: TRP accuracy is influenced by the accuracy of each EIRP sample.

From TR 37.842, EIRP accuracy refers to the maximum deviation of the DUT to a declared performance requirement, which can be approximated by 


[dB]																				(3)
where


– is the maximum conducted output power error at the transceiver unit output.

 – is the variation in main beam EIRP due to beamforming errors caused by phase error at the transceiver unit output.

 – is the variation due to the error in the passive elements, the RDN, the antenna array gain errors, mismatch errors and insertion losses variations.

In the case of TRP, the variation in the main beam EIRP due to beamforming error caused by phase error at the transceiver unit output is small,  because EIRP is sampled over various points on the sphere instead of just one EIRP value which is sampled in the beam peak direction. Unlike the EIRP accuracy requirement, beams are not steered to different directions. The other error sources remain unchanged. 

Based on equation (1), the TRP accuracy can be written as

			(4)

If we assume   then we get

																							(5)

Therefore, the TRP accuracy is within the EIRP accuracy.
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3	Conclusions
In this document, we have discussed the TRP accuracy requirement of AAS BS output power. Based on our findings, we can make the following observations: 

Observation 1: TRP accuracy is influenced by the accuracy of each EIRP sample.

Observation 2: The same EIRP accuracy () can be used for validating TRP declaration with measurement and possibly the maximum output of AAS BS for testing of other RF requirements. 
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